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2. (a) What do you mean by ‘account:
concept and accounting conventmn’?-

(b) Explain the salient features 0
‘proprietary concept’? 1

() Compare between entity concept
~ proprietary

(¥ Scanned with OKEN Scanner



(3)

5. (@) What do you mean by current asset? .:»'7-;' |
{b) State the 1mportance of valuation af 5 i
inventory in accountmg ' fer ;

(c) Enumerate the logic behlnd = P

pnnc1ple of valuing closing stock_ :
lower of cost or market pnce
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9. On lst January of a year the lllﬁna:;glt:ga
Director of a company wants to. the

amount of working capital

From
required during the year. E
information of the company, prepare the 1

forecast of working capital requirernent :

Production in the last year was 60000 m

The currentyeamproducuonwillbem
more than that. Like the previous year ifi £3€
current year also all units produced;wﬂl o4 f"'" |
-sold out. ok

Analysis of selling price

that will be
the following _' “

..

-Raw Materials
Profit
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approximately 3 months. Credit sl
delivery ot o2 Bonths st
Very of raw materials. Credit allc
deb_tors- is 21 months from
despatch. 20% will be o)
There will be regular p
- Cycles. Wages will be pai
- nhext month.
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(b) a statement of sources and applicatic .1_1_'
of funds : 4+6
Liabilities 2022 2023  Assets 2022 |
‘ 4 4 Bl
Equity Share Fixed Assets
Cepital 75000 1,20,000 atcost 2,40
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(ivj Fixed  Assets
(accumulated depmn L
were sold for ¥ 250. Loss ansmg
from was written off

Eqmty .Shares

12,
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Liabilities r  Assets
Current Liabilities : Preliminary
Bank Loan 12,000 Fxpenaes
Sundry : Discount on
Creditors 16,000 lssue of
p i Debentures
Dividend 2,000 o
P .i . for 4 4 .:;",
Taxation 10,000 40,000 ;
2,92,000 el LIk e
e —— . i t ST -
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